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Lemurs are only found on the island of Madagascar.

Madagascar is off the coast of Africa.

Scientists think that ancestors of modern lemurs evolved in Africa and reached Madagascar

about 50-60 million years ago.

Today there are many species of lemur living on Madagascar.

Figure 2 shows information about water currents.

Figure 3 shows the distribution of three species of lemur on Madagascar.
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(d)  Describe how the ancestors of modern lemurs may have evolved into the species shown in Figure 3.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(5)

(Total 9 marks)
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(1)
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(b) Give the genus to which the stone plant belongs.

____________________________ (1)

(c) The stone plant has many adaptations that help it to survive in the desert.

Draw one line from each adaptation to how the adaptation helps the stone plant to survive.
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The jerboa is a small desert animal.

Figure 2 shows a jerboa.
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(ii) Lamarck’s theory is different from Darwin’s theory.

Use Lamarck’s theory to explain how the elephant’s trunk evolved.

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________

(2)

(b) (i) In the 1800s, many scientists could not decide whether Lamarck’s theory or Darwin’s theory was

the right one.

Give two reasons why.

1. ____________________________________________________________

______________________________________________________________

2. ____________________________________________________________

______________________________________________________________

(2)

(ii) Before the 1800s, many people had a different idea to explain where all the living

things on Earth came from.

What idea was this?

______________________________________________________________

______________________________________________________________

(1)

(Total 9 marks)
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c) Figure 2 shows what scientists think a living Plesiosaur may have looked like.

Scientists think that the Plesiosaur had smooth skin, with no scales.

The scientists cannot be certain what the skin of a Plesiosaur was like.

Suggest why.

___________________________________________________________________

___________________________________________________________________

(1)

(d) Plesiosaurs are now extinct.

Give two possible reasons why.

1. _________________________________________________________________

___________________________________________________________________

2. _________________________________________________________________

___________________________________________________________________

(2)

(Total 7 marks)
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(ii) Darwin’s theory of evolution says that all species of living things have
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(ii) Which two of the animals in Diagram 1 are most closely related?

_____________________________ and _____________________________

(1)

(iii) Diagram 2 shows a more recent model of the relationship between the animals.
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